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(a+b)(c-d)=... (@a+b)(c+d)=... k(a—b+c)=... ; ka—kb=...; k(a+b)=
a’—b*=...; (a-b)y’=.. ; a®+2ab+b’=...; (a-b)(c+d)=... ; ac—ad—bc+bhd=...
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d=7x-3x*-8+5x}+2x—x* —4x> -1
y=3ab—-2a+45a-45+2ba-5b+8a-8

=1-(4x-5+2y)+(By-20+x) ;

m=2a-1+05b-a+3-8b
a=3X+2x*-5+2x-7x*+11

v=2x—-[1-5a—-(5a+7—-6x)|—(4x—a+8)

(—3x—

4)(-5-x)

=(-9-2af

G=(2ax+7)2xa-7) :

H=(y-xJ |

» (2x=1)(x+3) ;

c :x(2x2—x —3)+x2(1—x) ;

. C=(0,7-x)0,7+x) :

2 (A G palll
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5x(2x2—x—1) ; 2X(1-X)

a=2x(1-4x)+3x(2x+2)
(Rl ciliaia i)
A=(2x-1) ; B=(@+y)

~2(3+7x) +5(x -1y
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S=x>-5x+7x* : T =3ax—5x+xb A=2a%+6a Q=9x-6
N = x* +6x +ax+6a R=25+50-5-h M =4-2a+2x—ax

. k=(-35)-d?, f=8
C =81-36x +4x°

p=4-x°
e =16x2-9 -

~16y +Yy°
- b=x*+2x+1 ;

(Aala laUaia Jraat)
= (6xX) +2x6xx7+7
a=25x2+20x +4
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